Year 6 Extension Arithmetic Test 1 teStbase

16 - 20 =

1 mark
236 -30x 6 =

1 mark
368,701 + 10,000 + 10,000 =

1 mark
2,954 x 9 =

1 mark
8,253 +4 =

1 mark
3,300 + 30 =

1 mark
328,088 + 75,253 =

1 mark
42,000+ 70 =

1 mark
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1 1
—_X—_=
7

1 mark

75.83

X 5

1 mark
56.97 + 8.152 =

1 mark
99,999 + 200 =

1 mark
1°+2°+47=

1 mark
600 x 40 =

1 mark
99,999 - 5,000 =

1 mark

636,342

- 217,838

1 mark
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444,005 - ? =22,006

1 mark
6.3+ 100 =

1 mark
0.3x12=

1 mark
340.27 - 3.905 =

1 mark
80 x 120 =

1 mark
238.1 x 1000 =

1 mark
50 x 80 - 40 =

1 mark
8+7x3—-4=

1 mark
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476
x 83
2 marks
2 5
_+_—
12
1 mark
5
— X —
8
1 mark
3678
x 29
2 marks
42.3+5=
1 mark
36)7521=
2 marks
5 5_
4 6
1 mark
?
5% =—
20
1 mark
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42% of 90 =
1 mark
6.5_
7
1 mark
l?
0.6=—
20
1 mark
31 1.
8 4
1 mark
2—x4 =
1 mark
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